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6. Solve the following equations (be sure o test your answers).
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4. Rewrite each expression as a single logarithm.
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7. Solve the following equation (be sure to test your answers).
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2. Cobalt-60, which has a half-life of 3.3 vears, 1s used in medical radiology. A sample of 60 mg of

he material 15 present today. )
t’?;c\; p‘/a t—tO}S eXp = )(/6“5 —L\\VLG\\ '{)\W\Avar O

a) Write an equation to express the mass of cobalt-60 (1n mg). as a ﬁmctmn of time, tin vears.  [2]
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b) What amount will be preseﬂt in 10.6 years? ‘t\ \0 6 2]

B 60(06) S5

M) = 6003
M) = 00

c) How long will it take for the amount of cobalt-60 to decay to 12.5% of its imitial amount? [3]
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2. Solve for all values of & in the specified domain.

tan’ G+tan §=0_0<6< 27
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2. A weight attached to the end of a spring i3 bouncing up and down. As it bounces, its
distance from the floor vares sinusoidally with time. You start a stopwatch, when the watch
reads 0.4 sec, the weight first reaches a high point 50 cm above the floor. The next low
point, 30¥errabove the floor, occurs at 1.8 sec.

b = @sX
(a) Predict the distance the weight will be from the floor when the stopwatch reads 17.2 sec.
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D: 49.4 cm

(b} How high was the weight above the floor when the stopwatch was initially started?
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